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Instructions to Pupils:

3

i. Do notopen the booklet until you are toid te do s2.
2. Follow all instructions carefully.
3. This paper consists of 2 sections, A and B.

4. For questions 1§ to 15 in Section A, shade the correct ovals on the
Optical Answer Sheet (OAS) provided using a 28 penail.
. For questions 16 to 22, give your answers in the spaces given n
Section B.

a3

Maximum | Marks Obtained |
| Section A 30 marks :
| |
! - i ' e — ; . —_
Section B 20 marks i
Total 50 marks i _ o
4 I

* Tnis booklet consists of 16 pages.
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Section A (3G maiks)

For sach guestion f om i o 15, four options are given. Ong of Ihem s the correct
answor. Make vour chiice (1, 2, 3 or 4). Shade tha correct oval (1, 2, 2 or 4) on the
O§Ji~\,a )\"\qn‘/ A (‘VhP(B"‘ |

i ‘Which one of the following is not.a cyel

e . 3 0erSor
pnange mnwe o Mo a person

2 Cb*“gb N §eason
45 Mavements of me moon around the earth

2 Look &t the diagrams below,
A :A

W hich una of the following is NOT a tife cycis?

“ =Y iy, N YA
O S ag, 2) papaya

EAEEEEEN N
J ‘\ e i

7 . . / )
JOOBE e JOSIING C o papava | papaya
ree T Tseedling

{50 Sareiats {4} i

(= ;{ i -v‘;\ \4‘/ 595 \.L'\«\I
// \ -

wintsr sommer aduit moth larve
" o~
\\ __4/( K e -
\“\ A’w \ '/J
autmn nupa &
2 Which nne of the following features makes & person uniquely different from

another perse
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4 Which of the following statemants give the correct ditference bebveen a

nymph and an adult cockroach?

A : The nymph has no wings but the aduit haz,

B : The nymph lives in waier but the adult iives on tand

C : The nymph mouils a few {imes bt the acit does not

D : The nymph is fight brown in colour white e adult s dark browr in colow

(1) A and D only

(2) A, C and D only

(3) A, Band C only

(HYA, B, Cand D J
5 - The diagram below shows pait of the life cycic of & _m”\wb ‘: u'ﬁ i'_>-:7):<:

represents a stage. The age of the animal at that COX. 1

1 21 days old
T ..
___.J.I‘.‘:;/ — t\“,k_.—_- ———
0 Day ‘1 ~ ; 2
. i
) - \\ —’/.’/'//
Egg jusl laid I R e Stage
| 4 months old P
i ;
Adult stags
Predict the age of the animal at stage Y.
(1) 11 days
(2) 56 days
(3) 2 weeks
{1y 20 weeks
6 How is a seedling diffevent from an adul plan
(1) The adult plant has rools but the zeedling duss nok
(2) The adult plant has stem bul the seedling doaes not.
(3) The adult plant needs ar bt the seadliing doss nok,
“{4) The adult plant has flowers but the seadiing Jops not,
4
|
:
{ Go onte the next nage |
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;.,.

he drawings beiow show the stagas of growth in tha life cvcle oF a bean

sg!.am

A D

§ DY SN SN S

TG NN, G N

During germiranan, the shoot appears

Her '
!\ ) il Gh .y-:“z ' V\]: 14 ; \;VS
;

‘ﬁ:‘] thar with the ot

2) o
33 after tne first leaves appear
4)( rgether with the first leaves

Which one of the onildren made tha correct statement?

1Y Al 2 My thuombpnt iz the same as my fend's.
{2) Bee Eng : Sveny mﬂy can roll histher tongue if he/she practises harg
anctigh.
{3) Christophet : The young of living ’thm s will grow up ¥ become aduits
. that resemble their parents.
{4) Manisha : A son inherits his features only fromt his father while a daughter
inhertz her features only from her mother. '

Which ona of the following statements is not true?

{1} The human body 1§ a system.

(2) Zach sart of a sysiem has a funcon.

{3) A zystem can stilt work even if some parte are not werking.

{4y Zach cart or a sysiem does 2 job that is different from & rast.

{ Go on o the next pzae)
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Which one of the following is not an exampia of a qysiem?
{1) Balsam plant

(2) Computer

(3) Hippopotamus

(4) Paper

Look at the chart below.

e

[ GroupS  Group T |
| clothes peg | car |
rubber band | durian trae |
stapler | gin l
thread ( teble I

Which cbiscis have been wrongly groupad’

(1) Car and dunan tree

(2) Clothes peg and stapter

(3} Girt and teble

{4} Rubber band and thread

Devi went to the garden ard picked some ciants to decovate het botia
garcen. Which senses did she use fo select the plants?

{1) Hearing and sight
(2) Sight and smell
(3) Smell and touch
(4) Taste and touch
When Chnssmett

t
ate it. Which one of th
being sent to the sense organs tor his actions to teke piace”

by ~ o L LA

.
t
: following shows the corract sequence of messages

he freshiv-baked pizza, he tock a piece fror the tabie and
t

) nose—hand-—mecuth—-=brain

<

. —~ < b . ! e 1
) @ye%brcj‘ﬂ*”'—rﬂan‘ | AN O U e A
<

{
(3) nosa~—brain——hand-—-sbra n—-—smotih
(4) nose—-brain—asgye—abrain—-shand-—2orain-—smouth

[ SO

{ 50 onfo the naxt prge)

e e e
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15 Study the descriplion of a fruit given in the tabie pelow:
- k¢
!
: hava g hairy skin, i
a a ..c y 1, %
{ am red in colour.

| taste sweet.
! ngve only ane seed,

A

Which one of the latters in the classification chart below répresents the iruit
oY

thatl ia beng desoiben

. Frait

)

B N 3
! X L
Smnoth skin Hairy skin

S g S S
3 1 H H
- ; ! " i { :
Rad incolour Puwple in colour One seed  Many seeds
§ |5 ‘ e g -
.- ~,..LN.,_._M{ Grape <| Kiwi fryit
| | S
Ora sead Mary seeds

} I3
1 ;
G o
() A
iy D
/\"} ¢ \
Y O
\u) L_,l
(DD

End of Section A

{ Givon to the next paoeh

L
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Sec’_ﬁion B (2D Marks)

for guestions 16 to 23, write your answers in this bookiet.

18 Complete the cycle shown below by drawing the correct ficure in the box
provided. (2 m)

A\
/ / "\..:"\\
L& ) /, //J A \\‘\\ .
N A

i s
i g
! P

(ORI

PR |~ 3 - N 3
¢ Go on o the pext pags)
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rzim below shows the Iife oycies of twe animals. Look at the tite cycles

;ﬂﬁ‘ﬁ‘OQFW'ﬁ“dBﬁSWQF?hGQUGSUUH&

4255 5
S % -
~

aduit P mme— . chick atuit Q sater
o

o
[}
3,
5
(!
~N
N

(a) Wantily adult P and adult Q in the above ife cveles. (1 m)

Adult P

A\ MG .
7

ey 1

() Atwhich gtage of Life L,yc!e Fis the animal considared as harmful by
ithig stage is narmiul. (2 m)

farmers? Explzin why this animai at this
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Four seeds are grown under different conditions as shown in

he tebia belovwe,

L§oed [ ] Conditions

I| ertilizer | air warmih

| J fertihzer [ air __Inowarmth

t— K fertilizer ! no Gir {warmii ! j'

L no fertilizer | air varmihy  waler B

(a) Which sead {1, J, Kor L) i3 not likely to dig But wilt grow weit ? (1 m

(0) Explain why the seed mentioned in (2) i= not likalv o ¢

well, (111}

E N S TR o,
e 'J'\n- \S S TN

{c) Inwhich direction does the shoot of 5 plant always grow

For each of the fallowing State"')m‘fts‘ dacide whethar

or ‘Faise’. Write ‘True’ or '‘False’ in the brackst for eacn 3?1

(a) Living things always reproduce thair own kind.

(b) Our sense organs ustally woik fogether o that

we can Know what is hap.pem‘;g cmmd U5,
(c) When the adult butierily has fully develepad, it
will emerge from the larva.

(d) Many characteristics can be passed on from a parent
to the chiid.

.

——



MATH
£

21

e

Rosyeh School Continea? Assessment 2/%sience/ P37 1004

Dok at ire pitture of the stool,

{8} Give a ressen wwyu'we above syster carnot werk. {1 m)

/

e et s & et A A i b

were at a hirthday pary which was held at McDionald's
statements made by some of his friende.

2y enid. Could the temperature be a bit higher?
W marniirger is deiicious!

vy ©siew Luan s net here vetl Wil she be coming”
Zatton ; Tho fu.“r DUl rger smeils great!

Sense Qrgans Z
1

f

s

]

|

|

|

v; n,\

wa now 1o od 1te-nq can c g'rf‘up-ed according o heir
of food ems. (2 )

f
2

B kS
U zweais | ham
cakes | sova sauce

{ Goonto the nen page)
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May wanted to find out which containerd below was iiled

which one was filled with vinegar. She observed W
felt the same

L?%u?c? My

Sedt so[u‘ﬁi:ﬁ

{a) Name two sens e_organs which May can

St ;2

that hoth liquids {ookes

tell them

wgmeni 2/Scionce/ PR7I004

1 wilh salt s¢

Sluton and
and

r i 7 PERY
apart. {1 s

AN

>
e

30 \ f:}
e

a

oat e bouids ¢

rali

£ngd of Sestion &
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a)

5y 2 5)

4

10) ald

N
)
~

21) a)
)
c)
d?
22 a)
73) a)

cr
pg

ASSTES

SHENT FOR

chicken

bulbterfly

Catergillar. can ¢Aat khe plants zhar
had bean grown freon the farmers.
L
a i L has air PR R I TR B L U U S
oeed L has air, waervith and watsy IFoxr b
grow.
It grows towayds =he sun.
Trua
True
False
True
e .
It has 1 lesg wissing.
s unstabie as 2% iz =
DoeT L.
skin
ti:\h'g_u&‘
eyes
nose
sweet bY saliry ¢t bivecar 2Y sour

and uasce

toague

scur, rtha
N [
sailly, Lhne




